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QUESTION 1

You have two different workloads, workload 1 does not scale very well (~100 cores) and requires a very high memory
bandwidth, and a workload 2 that Is compute bound and IO intensive. 

Which Instances should you select? 

A. 1: BM.HPC2.36 2: BM.Standard.2.52 

B. 1: BM.Standard.E3.128 2: BM.HPC2.36 

C. 1: BM.HPC2.36 2: BM.Standard.E3-128 

D. 1: BM.Standard-2.52 2: BM.HPC2-36 

Correct Answer: C 

 

QUESTION 2

You are architecting the infrastructure for a file system. 

What are the different criteria you should use, and in what order to build a filesystem for optimal performance? 

A. Network Bandwidth > Number of Compute Cores/RAM > Storage 

B. Storage > Network Bandwidth > Number of Compute Cores/RAM 

C. Number of Compute Cores/RAM > Storage > Network Bandwidth 

D. Network Bandwidth > Storage > Number of Compute Cores/RAM 

Correct Answer: A 

 

QUESTION 3

What are two different types of Storage offerings available to build a filesystem on Oracle Cloud infrastructure (OCI)? 

A. Block Volume Service 

B. Local NVMe SSDs on DenselO and HPC compute shapes 

C. File Storage 

D. Object Storage 

Correct Answer: D 

 

QUESTION 4
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A Linux visualization instance Is in a public subnet with security list 0.0-0.0/0 for TCP port 22. What other rule do you
absolutely need to be able to connect remotely? 

A. Open all protocols for your specific IP address. 

B. Create a Stateless Egress rule for port 22

C. Open TCP ports 5900 to 5910 for 0.0.0.0/0. 

D. No other additional rules are needed. It is possible to connect as is. 

Correct Answer: C 

 

QUESTION 5

Which is NOT an advantage associated with moving a Big Data workload to Oracle Cloud Infrastructure (OCI)? 

A. managed service offerings to support common Big Data workloads 

B. best price / performance for Big Data workloads In the Cloud 

C. availability of Oracle Airflow 

D. Object Storage as Data Lake 

E. dynamically scale capacity against workload 

Correct Answer: A 
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